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/BCE=2/,D EBC=2,FBC, ~D=2FBC, FB=FD
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1. -1 2. -6 3. -10 4.3 5. 6. y=-2x-3 7.y
=4x-4 8. 11 9. y=-x-2 10. S=25t+2 t=0
1. 20X 3 v 4 X 5 X 6.X 1., 8 . o

10. v
1. B 2. B 3. A 4. C 5 C 6. A
2.

1. y:% 10- x 0<x<5

_1..3 3 = - 4x- =5
1. 1y—2x+2 2 5 2. 1y=-4x-10 2 x= 5 3. 1
__ A, 5 -2 .5 .S
y=-5%x-= 2 Si=s c( > o) D(O 3) 4. 1 21

.5, .7 - _ _

-26 2 y——zx+? 5 1 m=-1n=6 3 m-3 +2n=0 2
m-3 +2n=4 m=-1n=6 2 x<3

1.y=-3x-1 2. -3 3.y:%-% 4. y=-4x 5.3 -3

6.y:-2x-% 7.y=-2x-4 8.%8 9. y=2x  10. 2

1., 22X 3, 4X 5., 6., 7.%x 8xX o

v

10.

.D 2D 3A 4B 5D 6C

1. 1y=3x-5 A34 B1 -2 2x:% 2. 1y:%x—3

2 -3<y<0 3. 1 (-%0) > .20 4 1b=4n=-2
6 2 _ 1 .

2 ( e - 5) 5. 1 y=4x-23 2 x=63 6 1 y=2x+8
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1. 1 y=-x+20 0<x<20 2 y=x+10 x>0 3 125
1 y=-2x+180 0<x<90 2 3. -8 A
144 -2+i) B(%+% -3+%)030 D20 y=-2x+t x E

2
t 1 t)? 1 t)? 1
(? 0) Spesc :?(3 - E) Spero :?(2 - E) S seco = Spesc © Spem :E

Vo1, )18 v
3'2)'2(2'2)‘2 P tE-8 120 A/

4. X

;-% y=2x+1 x<-l y=-2x-1

2 A I
e-L oy x |
<-5 y 5
1. a +bx+c=0 a0 2. 3. 4. 0 %
25
5. -2 6. -2 7. -4 4 8.a>§ 9. m>-1 m=#l1
10 X:/§1A/123
) 4
1. X 2. X 3. v 4. v 5 v 6. v 7. X 8. X 9. v

1. B 2. D 3.D 4. C 5 B 6. D
1. x,=0x=-y2 2. x,=-4x,=-2 3.x1:%x2:% 4. x =

- 2% /14
6
1. ,=0x%=1 2.m>-2 mx-1 3.k:%x:112V21 4_%

5. 1 2¢-4x-5=0 2 x:li—Vzl4
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1kt -1 ke2 2 1+/3 -4 3. m>L mer2 4 x=-1x=4

5. k<1 6.—%x1:x2:—1 7.1 -1m=1 X =-4%=3m=-1

X, =4 X =-3 8. =5 9. 2 10. -3
1. v 2. v 3. v 4, X 5 X 6. X 7. v 8. v 9.

10. v

1. D 2. C 3. A 4. B 5. D 6. C

1x1—0x2—-% 2. %=y3%x=-y2 3.%x=5x%x=-5

1. 1 m+7 n=3 m - 8n=25 n=4%m2 m =49 , m=+7 n=3
2 m=7 X =--X%=-3m=-7 xl=%x2=3 2. 1 %5

2 2 /

@B _27  m+2=27 m= £5 2 m=5 op=-2:YB - 5
af 2
3_51529 3.1 a:iz-;/iﬁ:iz-zﬁ{ |a—/3|=ﬁ%=3

+2/2 a-B?=2a= 3+2/2 8 2+22 B ?=2 3:1%
242 m n

e = 4+ = = - — = + = — =
_2/—} 2 m=z%4n=1 a+p 2,m_4o¢ﬁ2n1

4. 1 m=5 m=-1 2 X=172 5. 1 m=4 m=-14 2 m=

4 «=4B=1m=-14 a=78=-2
1. A= &@+b-& ?-4a°*= a+b+c a+b-c a-b+c a-b-c
a+b+c>0 a+b-c>0 a-b+c>0 a-b-c<0, A<O

2. X -2x-m=0 A, =4+4m<0 m< -1 x> +2x+2m- 1=0
A,=4-42m-1 =8-8m>0 X +2x+2m-1=0

3. 1 m=-5 2 x=-1 3 X¥+mMx-6=0 x=6 X +5x-m
-1=0 x=-4 a o +mu-6=0D o*+5a-m-1=0
@ O-@ a=-1 4. 1 -4 aB A+ <a+p a
m
64

+8 2- 208<a+ +%s—% m= -4 2 x=1ts3

4
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8 a<0c=0 9 -2 10 12
1. X 2. v 3. v 4. v 5 X 6. X 7. v 8. v 9
v
10. X
1. C 2. A 3. A 4. C 5 A 6. C
1. Xx<0 x>2 y>0 2. x<% x>1 y<0 3.
x<1l vy X
oy 2. 4 e I -
1. y=2x*-x+3 2. fx —3x2 3x+3 1 3 3. y= 2x2+4x 6
4, y=2x-4x+3 11 5. y= - 3x +30x AB=x BD= 30-3x

y=AB- BD=x 30-3x =-3x¥+30x 0<x<10

1. 2 1 2 c<l 3 y=-2¢+12x-20 4.2 5 6.
y=-x+3x+4 7. 512 -10 8. ¥2 9. -16 10.a>0 b’-
4ac<0
1. v 2. X 3. X 4. X 5 v 6. v 7. v 8. v 9.
Vv
10. v
LA 2A 3D 4B 5D 6.A
e . 1V 9 (19 o
1 y=2x -2x-4—2(x 2) 5 (2 2) 2.y = - X +4x
X<2 y X
1L 1 y=4 x+2 2+1 21 y 21
-21 y=4 x+2 ?+1 2 y=-4x-27%-1
21 X 2 -1 y=-4 x-2?%-
1 2 1y=2¢+x+1 14 %7 01 y=2¢
_ 17 _2
x4l 2 y=6x-2 3(-;5) 3 1y=x >N -11 P
— o2 1 9
39 4 1y=2¢-2x-4 2(5-5) 3 -10 20
4% 5.y:%x2-60x+1800 0<x <60 AD =x DE:60-xy:%
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X% - 60x +1800

1. y=4x’ +8x+3 y=ax’ +bx+c a0 X
1 X X X -%x|=1 X, +X, 2 -4x,%, =1
—g 2—4;(:21 b’ =a® +4acD 3 c=3Q
1 X b’-4a c+1 =08 O @ @ a=4b=8
=-8 c=3 y=4xX+8x+3 2. 1y= x-27%-1 |ON| =
2 Xx=2 MN=1 21 y=0 x- x,=34a-1=3 a=1 y= X-
22.1 23 E 03 SAEPQ:% 3.1 x3=3 3 y=x
-2x-1 X X X
4, x;% y=x’-2x+1= x-1°7? X <
% y=xX+2x-1= x+1 ?-2 X<i
1 4 6 _3x/7 3+ .,/15
1.m>-16 2.3 3.5 4.x—2 5 2 X > y X
3'2V15y 6. 10 7. y=%x+l 8. 40 924 10 30
1 v 2. v 3. X 4. v
1A 2.B 3.C 4.B
1.1 2-% 2 la=-2 a#-1 2 a=0 x==%/2 3
2m+1 ~m+3 i 1.1 _ot+tp_ 2m+1 _
Latp="" =" 2 -2 a+5 o - m+3 3
L m=-2 4 1y=Ix+> 2(-%0) 5. 1 y=-2x+3 2
% 6. -1 ¥+mx+n=0 xX*+nx+m=0 m-n x=m-n, x=1
1+m+n=0, m+n=-1
1. ~ AOB 2. AB 3. C a
4, BC 5 AB AC BC 6.
7.13 8. AAEDx ABED=2 ABCD
1 X 2. X 3. v 4. 5 v 6. v 7. X 8. v 9. X
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10. v

1.B 2.A
1 BC=a B c c b
A AB AC AABC 2. BC=a
B C BC CB BC /ABC=a £ACB=p BA
CA A AABC 3. BC=a BC
E EDLBC ED=h D MN/BC B BC £/ ABC=
La BA MN A AC AABC 4, BC=
a B BC /ABC=q C AB BC BA
A AABC 5. AACE AE=a AC=b CE=2m
CE D AD B DB=AD BC AABC 6.
BC=a B BC LABC=a LABC
BT BT=t CT BA A AABC
1 1AB MN AB AB
MN P P 2 AB MN 1
2. BC MN  ~BAC MN
P P
1 15 DN 2
1.2 PF = PG
3.BC 4.
AABC

1 —a A AB /DAB=a DA=b B
BC/AD BC=b CD ABCD 2
AB=a A m B b
C A AD//BC C CD/BA AD D ABCD
3 AB=c A AB /BAC =«
B AC AC BC AC C A ABC
4, BC=a B BC / ABC=q C
CB AB /BCD=a CD AB A AABC
5, BC:% C CD.1BC B m
_m
cO A AB AABC 6. BC=17'
m m
BC BC BE CF  BE BA=' OF =7 AD
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ABCD 7. CD=h D CD

EF C CD £ DCA=90° - « CA DE A C
CB L CA CB DF B AABC 8.
AB BC D D DA D
1 1 2 3
/QON=90 - ~AON=90°-60°=30° ~POM=90°- ~BOM =90° - 60° =
30° £/ POM =/ MON = 2 NOQ =30° 2. MN AC=m
BC BC MN P PA+PB=m P
PA+PB=PA+PC=AC=m
1 AC=a C CELAC CE=S AE  AE
MN CE B AB AABC 2.
DE =s D DE / EDA = %a E EC
LDEA:%,B EA DA A AD DE B AE

DE C AB AC ANABC
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1.3 2.60 3.5 4.120 590 6.8 7.10 8 40 -
20 9.16 10. 25
1.V 2 x 3.V 4. x 5 vV 6. V 7.V 8. x 9.

\/
10.V/
1.C 2.B 3D 4D 5B 6 A
1. 56° a/b ,£1=/3 4x+36°=2x+80° , x=22° /1=4x22° +
36° =124° /2 =56° 2. LA=70° ,BDC=126° AD E
,BDC=/BDE+ /EDC=/B+/BAD+ /DAC+,C= /BAD+ /DAC +34°+
22° = / A +56° LA:%LBDC, LBDC-%LBDC:56° /BDC=126° /A=
70° 3. 120° AABEx-ABCD /BAE=,CBD /DME=_/AVB=
180°- ,ABM+ /BAM =180°- ,ABM+ ,CBD =180°- 60° =120° 4. 15—2
N _ _AD:- BD_3x4_12

cm BD—ZBC—4cm, AD =3cm DE = B 5 5 5 4+
2./6 cm /,BCD=135° £/ ACD=90° ,BCA=45° AB=BC=2 AC=2.2
/ BAD=75° / CAD=30° AD=2CD AD?- CD? =AC*> 4CD? - CD? =8 3CD? =8 CD
:%g, ABCD AB+BC+CD+AD:2+2+2T£+‘%6:4+2£
cm 6. 12cm 6 +2 /3 cm / ABC=120° ,A=60° ,ABD=30° AB
=2AD AB’ - AD’ =BD? 4AD* - AD’= 2,/3 2 AD’=4 AD=2 AB=4 ,

2 AB+AD =2 4+2 =12 cm ABCD BC+CD+BD=2+4 +

2/3=6+2,/3 cm

1. %?; 2.8/3 3.3 4.4/3 5 10+10/2 6.16/3
60
13

7.
1.V 2. x 3.V 4V 5V 6 x 7.V 8.V 9

X

10.V

8. -3 9. 10 10. 04 0 -4
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1. B 2. B 3. A 4. B 5 B 6. B

1. 1 29cm 1 AD:EF:%AB:%XM:S DE:AF:%AC:%XB:

6.5 ADEF 2 AD+AF =2 8+46.5 =29 cm 2 21.5cm

ABDE BD+BE+DE:% AB + BC + AC :% 16+14+13 =21,

5 cm 2. AD=5cm BC =5cm AB =8cm CD =8cm A ABD

AB +BD +AD =18 BD = AD S ABCD 2 AB+AD =18+8=26 AB+AD =
13 3. 9+3/3 cm /AEB=/BEC=,/CED=60° AB=/3 AE=1
BE=2 /ECB=30° CE=2BE=4=CD=DE BC=,/CE*- BE?=2.,3 AB-
CD CD+DE+EA+AB+BC=4+4+1+,/3+2,/3=9+3.,/3 cm 4.
1 16.3cm 2 8m 5. /B=40° /AEC=80° £ CAE + £ BAE +
/B=90° ,B=/BAE /BAE=4,CAE, ,CAE=10° LAEC=90°- 10° =80°
/ B=40° 6. 6cm /CDE=/AGF CDLAB /BDE=/A A+ /B=
90° , DE1BC AF=DE RtABDExRtAGAF , AG=BD=4 CG=AC- AG=10
-4=6 cm

11 9+% 3 ot BE BE=AE=6 /CEB=/A+ /ABE=2x
15° =30° | BC:%BE:%X6:3 CE? =BE? - BC® =67 - 32 =27 CE=3,/3 AABC
2BC AC=2x3 3/3+6 =9+2.3 ot 2 9+3,/2+3,3+3

J/6 cm AB*=AC’ +BC*= 3/3+6 2+3° =72+
36/3 AB=3.,6+3,/2 A ABC AC+BC+AB= 3/3+6 +3+ 3.,6+3

2 =9+3,2+3/3+3.,/6 cm 2. 1 6.,2+2 /10 AB =
vV 2+22+42=42 AC=/ 4-2 %+ 4-2%=2/2 BC=/ 4+2 2+22=2 /10

AABC AB+AC+BC=4.2+2/2+2 /10=62+2 /10 2 8
AB? + AC? =BC? AABC ., A ABC %AB- AC =
%- 42 2/2=8
3. 112/4-22 AC=BC=12 AB=1218

J2 DELAMB E RIAAEDRtAACD AE=AC=12 CD
=DE=BE=AB- AC=12,2-12 AD’=AC’+ CD*= 12°+ 12D

J2-12 ?=576-288,/2 AD=12./4-2.2
2 72./2-72 AACD 1 A CD=%><12><



12./2-12 =72/2-72 4. 1 28cm 2 8./21

ABDC ACBE , DF:EF:%BC:10
DE+EF+DF=8+10+10=28 cm DE=8 DE
DE=4 F& =DF?- DG =10%?- 4> =84 FG=2 ./21 ADEF

x8x2 ./21=8 /21
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G

F BC
ADEF

FG DG=

1 _
> DE- FG=

NP NP



4.35 5 8m1i0cm 6. 7.13  8.16+1642 9. 16
10. 32

1. x 2.x 3V 4 x 5V 6V 7.V 8V 9
\/

10. x

1.C 2A 3B 4D 5D 6 A

1. AABBE2ADCF BE=CF /ABE=/DCF /CBE=/BCF BE//CF

2. BE//DF Rt ABEC= Rt ADFA BE = DF 3. B=CD=09.
5cm AD =BC=3.5cm AB +BC=13cm EG- GF =3cm AB - BC=6cm 4.
30° 150° 30° 150° 2: 1 5. AABC /B=
,CBD=CD 2BFD=,2CED ABDF«x ACDE DF =DE DF //EK DE//FK
DEKF DF =DE 6. AE=AF AB=AD /BAE=

£/ DAF=90° , ABAEx-ADAF /ABE=_,ADF /AEB=/DEG, ZADF+ 2DEG
=/ABE+ ,AEB=90° , ~DGE=90° , BG.1DF

1.8/2 2.130 3.20 4.75 5 4+4/2 6. 40 7. 36

8.12./2 9. % 10. 135

LV o2V 3V 4 x 5V 6 x 7.V 8V 9

\/

10. V

1.C 2B 3B 4D 5A 6 A

1. OB=0D £BOE=/DOF £BEO=/DFO, AOBEx=AODF BE=DF

£BEG=/DFH LEBG=/FDH ABEG:2ADFH , EG=FH 2. 72°
/BAE=x /CAE=3x /ABE+ /BAE=90° /ABE=/OAB=x+3x=4x 4x

+X=90 x=18 / DAE =90° - / BAE =90° - 18° =72° 3. AFIBE ACL
BD ~OAG=/OBE OA=OB RtAOAGRtAOBE , OE=0G 4.

BF =DE BEDF HE //FG AB=CD AF=CE

AFCE GE //FH FHEG , EF

GH 5. CB M BM=DF AM  AABMw= AADF

AM=AF /BAM = /DAF /EAF=45° /DAF + /BAE = /BAM + /BAE =

/MAE =45°  AE =AE AMAE 2 A FAE EM EF AB =
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AG 6. EGIBD G AC BD O EG=AO=%AC=%DE, EG

+EDB=30° «DBE=/DEB=75° ~EBF=30° /BFE=75°=_/BEF

BE =BF
1. CDLAB EF LAB , CG//EF AE £ BAC RtAACExcRtAAFE , EF
=CE /£CEG=90°- LCAE ~,CGE=/DGA=90° - ~DAG=90° - ~CAE ,

/CEG=,/CGE CE=CG CG ZEF EF =CE CEFG 2.

AB M FM FB BCFM , £1=/2 BE L AD MF
//AD , BE_LMF M AB MF BE , £2=/3 DA//FM
+DEF=,3 +CFE=3,23=3/DEF
3.1 RtAAA D, 2RtABB,A =Rt ACC,B, =Rt D F C

ADD,C, , AD, =B,A =C,B, =D,C, /AAD, =
/BB,A,  /BBA + /BAB, =90° , /AAD +

/BAB,=90° , /B,AD, =90° 2 %
a AB=a AA = —a BAl——a BBlz%
2
«/ 5
= AB,C,D, A8l =% =2
a 3 25a2 AA, = —AlB V V10, AB, —AlBl =310, B,B, =
64 16
_|{v10\" (3 10\ _5 25,
AR AB, —/( ) +(3429) =22, aBco, s
1 2. 3.
4. 2m-n 5. 6. 7. 8. 35 9.
4.5
10. 12
1.X 2.v 3 X 4 X 54 66X 7. 8. o
Vv
10. v
1.D 2A 3A 4C 5C 6C
1. /A= /B=60° ,C=120° 2. DE=2cm MN =4cm PQ=6cm
3. AD F EF EF EF//AB EF LAD EF  AD
, AE=DE 4. 1 EB:FD:%AB EF/BD EF=BD , BDFE
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2 24cf 5. DG RtABDC . DG=GC=BG
:%BC EF  AABC EF:%BC DE//FG ED~FG DEFG
6. 1 AEFD BCFE M N AF BF
. MN//AB MN:%AB ABNM 2 15cn? ABNM
11,40 1.1
ABCD  AB >, h=gx3 ABNM 2% 2
x% 8+4 =15 cn?
1. 22 2.2 3. 12 4. 4 5. 40 6. 12 7. 12
8. 25 9 :%E 10. 4.5
1.X 20X 3 v 4., 5., 6. 1.0 8% 9
X
10. v
1. A 2. B 3. A 4. D 5 A 6. C
1. EF=13cm MN =10cm PQ=7cm 2. /AED= /EAB= ) ¢
/BEC=/EBA ., AE=BE ED=EC /AED = / BEC AAED
~ABEC, AD=BC ABCD 3.
DE AB F E BC AB// k
DC BE=CE /FBE=,DCE /FEB=/DEC, ABFEw N
ACDE BF=DC AF =AB+BF =AB +DC=AD , ADF = \\
/AD=/FDC DE  /+ADC AE  DC ) .
G AE  /BAD
4, AADEw ABEC , AE=BE G H F AB BE AE
GH 4/%AE:FE GHEF GF:%BE:%AE:GH IGHEF
, EGLFH 5. 1 ./87cm AC CF1AB F AABC
AB=BC CF=AE AF=DC=3 BF=16-3=13 . CF=,/16"- 13° = /87 , AE=
/87cm 2 12—9/87 cm 2 % AB +DC ><CF=% 16+3 x 87:12—9
/87 ot 6. C CH/DB AB H ACLBD AACH Rt
A /BAC=30° CH=%AH AH = AB + BH = AB + DC |, BD=CH=% AB +
DC  FG FG:% AB +DC
FG=BD
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1. 1 AB=20cm DC=12cm AB =5x DC =3x % Bx+3x - 5=80

x=4cm  AB=20cm DC=12cm 2 AB = 16+5f em DC=16- 23 em

DC=y AB= y+2x5£ 1 AB+DC xCE=80 y+lo“/—+y x5 =

160 DC=y=16- Si_ cm AB:16+5%§ cm 2. 1 DE/CB AB

E /AED=80° , ,ADE=50° AE=DE=BC, CD=BE=AB- AE =AB- BC

2 7+2/3 cm DE | AB CF | AB EF ABCE BC=8

FB=4 CF=4/3=DE AADE AE=DE=4,3, AB=AE+EF +FB=4.,3+5

+4=9+4.3 MN:% AB +CD :% 9+4,/3+5 =7+2/3 cm

3. ABCD AB G BG=DC DC H CH=AB

GH GH  HK=DE  EKFK AGHD EKHD
EK=DC+CH=DC+AB FK=EF  AEFK EF +FK>EK  2EF >AB +

DC | EF>% AB+DC EF AD BC EF:% AB +DC

EFB% AB +DC EF

1. —%0 20 2 %1 -15 3. 24 4. 105° 5.
32

6. 6 7. 10 8. 10 9.6 10. 67.5°

1. X 2. X 3. v 4. X 5 X 6. v

1. A 2. B 3. C 4. B

1. OA=0B OMB=,0BA ,OAE= LOBE, BAE=/ABE AE
=BE 2.  ABEFx ACFGz ADGH=2 A AHE 3.
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4. AACD= ABDC AABD=2 ABAC  £BAC=~2ABD = ~LACD AB//
DC 5. 15 -75 M Xy ly] =5 |MP|=5 y=-5
y=5 x=1 -7, M15 -75 6. 1 BAT
/DAE=90° ~CDA=90° /CEA=90° AECD 2 G
AC AE

/BAC L GEA=,GME=/BAE, DE/AB, GF AABC
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90
ABCD ABCD ABCD ABCD ABCD ABCD
1. O0OO0O0 2. 0000 3. O0O0O0 4. O0O0O0 5. 0000 6. OOOO
7. OO0O 8. OO0 9. OO0O0 10. OOO0O0O 11. O000 12. O0O00
13. OOOO 14. 0000 15. 0000 16. OO0O 17. 0000 18. OO0O0
19. OOO0O 20. OOOO 21. OO0OO0 22. 0000 23. O0O0O0 24. O0O0O0
25. O0O0O 26. OO0OO 27. O0O0O0 28. OO0O0O 29. OO0O0 30. OO0OO
10
31.O 32.0 38.0 340 35.0O
90
ABCDABCDABCDABCDABCDABCD
1.OOOO 2.0000 3.0000 4.0000 50000 6.0000
7.0000 8.0000 9.0000 10. 0000 11.0000 12.0000
13.0000 14.0000 15.0000 16.0000 17.0000 18. 0000
19.0000 20. 0000 21.0000 22.0000 23.0000 24.0000
25.0000 26.0000 27.0000 28.0000 29.0000 30. 0000
10
31.O 32.0 33.0 34.0 35.0
1 A 7 C ABCD
1L.e0O0OO
7.0000
3. 31 P2 * "3l.e 32.0
1908 1 31 1998
15
1538

200052 “ "




1. D 2. C 3. B 4. B 5. C 6. B 7. D

A

9. B 10. C 11. A 12. C 13. D 14. B 15.
16. A

17. B 18. A 19. B 20. C 21. B 22. B 23.

25. D 26. C 27. C 28. B 29. D 30. B
31. X 32. X 33. X 34. v 35. v

1. B 2. A 3. D 4. C 5. D 6. C 7. A

B

9. A 10. B 11. C 12. D 13. A 14. C 15.
16. B

17. D 18. A 19. B 20. C 21. C 22. A 23.
24.D

25. D 26. D 27. B 28. D 29. C 30.B
31. v 32. v 33. X 34. X 35. v
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